City Clerk

Bid Committee Bid Tab

Bid MCA WMC-035-1 Ended At Jan 18, 2023 10:00:00 AM CST CONSTRUCTION/OCWUT - Facility Road Improvements

Company:	Ellsworth Construction OKC dba Atech Paving	Rudy Construction Co.	Haskell Lemon Group, LLC
Base Bid	\$2,009,931.85	\$2,375,179.00	\$3,186,116.00
TOTAL BID:	\$2,009,931.85	\$2,375,179.00	\$3,186,116.00

Tresha Williams	Robbie Witt	Randall Daniel
City Clerk	Procurement	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee; and
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #MCA WMC-035-1 - Facility Road Improvements

Start Date Dec 21, 2022 8:15:06 AM CST Awarded Date Not Yet Awarded

MCA WMC-035-101-01 Base Bid: UNCLASSIFIED EXCAVATION							
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ellsworth Construction OKC dba Atech Paving		First Offer - \$34.00	749 / cubic yard	\$25,466.00		Υ	
Product Code: WMC-035-1			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Rudy Construction Co.		First Offer - \$35.00	749 / cubic yard	\$26,215.00	Y	Y	
Product Code: WMC-035-1			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Haskell Lemon Group, LLC		First Offer - \$55.00	749 / cubic yard	\$41,195.00	Y	Υ	
Product Code: WMC-035-1			Supplier Product Cod	le:			
Agency Notes:			Supplier Notes:				

MCA WMC-035-101-02 Base Bid: CEMENTITIOUS STABILIZED SUBGRADE (8 inch THICK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$8.15	4481 / square yard	\$36,520.15		Υ			
Product Code: WMC-035-1		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$27.00	4481 / square yard	\$120,987.00		Y			
Product Code: WMC-035-1		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$45.00	4481 / square yard	\$201,645.00		Υ			
Product Code: WMC-035-1		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

MCA WMC-035-101-03 Base Bid: AGGREGATE BASE					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$62.75	723 / ton	\$45,368.25		Υ
Product Code: WMC-035-1	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$75.00	723 / ton	\$54,225.00		Y
Product Code: WMC-035-1		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$125.00	723 / ton	\$90,375.00		Υ
Product Code: WMC-035-1		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			

MCA WMC-035-101-04 Base Bid: ASPHALTIC CONCRETE TYPE S3 (PG 64-22 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$153.85	1067 / ton	\$164,157.95		Y			
Product Code: WMC-035-1	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$195.00	1067 / ton	\$208,065.00		Y			
Product Code: WMC-035-1		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$260.00	1067 / ton	\$277,420.00		Y			
Product Code: WMC-035-1		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

MCA WMC-035-101-05 Base Bid: ASPHALTIC CONCRETE TYPE S5 (PG 70-28 OK)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$168.00	3715 / ton	\$624,120.00		Y			
Product Code: WMC-035-1	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$215.00	3715 / ton	\$798,725.00		Υ			
Product Code: WMC-035-1		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$240.00	3715 / ton	\$891,600.00		Y			
Product Code: WMC-035-1		Supplier Product C	Code:					
Agency Notes:		Supplier Notes:						

MCA WMC-035-101-06 Base Bid: TRAFFIC STRIPE (MULTI-POLY) (4 inch WIDE) (YELLOW)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$0.90	24510 / linear foot	\$22,059.00		Υ			
Product Code: WMC-035-1	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$1.00	24510 / linear foot	\$24,510.00		Υ			
Product Code: WMC-035-1		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$2.00	24510 / linear foot	\$49,020.00		Υ			
Product Code: WMC-035-1		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

MCA WMC-035-101-07 Base Bid: TRAFFIC STRIPE (MULTI-POLY) (4 inch WIDE) (WHITE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$0.90	24510 / linear foot	\$22,059.00		Y			
Product Code: WMC-035-1	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$1.00	24510 / linear foot	\$24,510.00		Y			
Product Code: WMC-035-1		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Haskell Lemon Group, LLC	First Offer - \$2.00	24510 / linear foot	\$49,020.00		Υ			
Product Code: WMC-035-1		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

MCA WMC-035-101-08 Base Bid: REMOVE AND RELOCATE SIGN							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$225.00	14 / each	\$3,150.00		Y		
Product Code: WMC-035-1	Supplier Product 0	Code:					
Agency Notes:		Supplier Notes:					
Ellsworth Construction OKC dba Atech Paving	First Offer - \$610.75	14 / each	\$8,550.50		Y		
Product Code: WMC-035-1		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Haskell Lemon Group, LLC	First Offer - \$2,000.00	14 / each	\$28,000.00		Υ		
Product Code: WMC-035-1		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

MCA WMC-035-101-09 Base Bid: GPS AS-BUILT SURVEY							
Supplier	Unit F	rice Qty/Unit	Total Price	Attch.	Docs		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$2,58	.00 1 / lump sum	\$2,580.00		Υ		
Product Code: WMC-035-1			Supplier Product Code:				
Agency Notes:		Supplier Notes:					
	1			ı			

City of Oklahoma City and its Trusts

Rudy Construction Co.	First Offer - \$3,300.00	1 / lump sum	\$3,300.00		Υ
Product Code: WMC-035-1	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$25,000.00	1 / lump sum	\$25,000.00		Υ
Product Code: WMC-035-1		Supplier Product 0	Code:		
Agency Notes:		Supplier Notes:			

MCA WMC-035-101-10 Base Bid: CONSTRUCTION STA	KING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ellsworth Construction OKC dba Atech Paving	First Offer - \$5,340.00	1 / lump sum	\$5,340.00		Υ	
Product Code: WMC-035-1 Supplier Product Code:						
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$6,600.00	1 / lump sum	\$6,600.00		Υ	
Product Code: WMC-035-1		Supplier Product 0	Code:			
Agency Notes:		Supplier Notes:				
Haskell Lemon Group, LLC	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Υ	
Product Code: WMC-035-1		Supplier Product 0	Code:			
Agency Notes:		Supplier Notes:				

MCA WMC-035-101-11 Base Bid: COLOR AUDIO/VIDEO RECORDING-PRE & POST CONSTRUCTION (RECORDED DIGITALLY ON DVD)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$1,000.00	1 / lump sum	\$1,000.00		Y					
Product Code: WMC-035-1		Supplier Product 0	Code:							
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,400.00	1 / lump sum	\$1,400.00		Y					
Product Code: WMC-035-1		Supplier Product 0	Code:							
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$5,000.00	1 / lump sum	\$5,000.00		Υ					
Product Code: WMC-035-1		Supplier Product 0	Code:							
Agency Notes:		Supplier Notes:								

MCA WMC-035-101-12 Base Bid: CONSTRUCTION SIGNING AND TRAFFIC CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$25,850.00	1 / lump sum	\$25,850.00		Υ				
Product Code: WMC-035-1		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$110,000.00	1 / lump sum	\$110,000.00		Υ				
Product Code: WMC-035-1		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$138,000.00	1 / lump sum	\$138,000.00		Υ				
Product Code: WMC-035-1		Supplier Product (Code:						
Agency Notes:		Supplier Notes:							

MCA WMC-035-101-13 Base Bid: MOBILIZATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$113,000.00	1 / lump sum	\$113,000.00		Υ
Product Code: WMC-035-1		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$120,000.00	1 / lump sum	\$120,000.00		Υ
Product Code: WMC-035-1		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$150,000.00	1 / lump sum	\$150,000.00		Υ
Product Code: WMC-035-1		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			

MCA WMC-035-101-14 Base Bid: CLEARING AND GRUBBING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ					
Product Code: WMC-035-1 Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$19,600.00	1 / lump sum	\$19,600.00		Υ					
Product Code: WMC-035-1		Supplier Product 0	Code:							
Agency Notes:		Supplier Notes:								
Haskell Lemon Group, LLC	First Offer - \$75,000.00	1 / lump sum	\$75,000.00		Υ					
Product Code: WMC-035-1		Supplier Product (Code:							
Agency Notes:		Supplier Notes:								

MCA WMC-035-101-15 Base Bid: REMOVE PAVEMENT	(ASPHALT)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$7.50	4481 / square yard	\$33,607.50		Υ
Product Code: WMC-035-1		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$10.00	4481 / square yard	\$44,810.00		Υ
Product Code: WMC-035-1		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$15.00	4481 / square yard	\$67,215.00		Υ
Product Code: WMC-035-1		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

MCA WMC-035-101-16 Base Bid: REMOVE GUARDRAI	L				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$6.00	12818 / linear foot	\$76,908.00		Υ
Product Code: WMC-035-1		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$6.50	12818 / linear foot	\$83,317.00		Y
Product Code: WMC-035-1		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$12.00	12818 / linear foot	\$153,816.00		Υ
Product Code: WMC-035-1		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

MCA WMC-035-101-17 Base Bid: PAVEMENT REINFORCING FABRIC										
Supplier	Uni	t Price	Qty/Unit	Total Price	Attch.	Docs				
Ellsworth Construction OKC dba Atech Paving	First Offer -	\$4.15	30018 / square yard	\$124,574.70		Υ				
Product Code: WMC-035-1			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Rudy Construction Co.	First Offer -	\$4.50	30018 / square yard	\$135,081.00		Υ				
Product Code: WMC-035-1			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Haskell Lemon Group, LLC	First Offer -	\$5.00	30018 / square yard	\$150,090.00		Υ				
Product Code: WMC-035-1			Supplier Product Code:							
Agency Notes:			Supplier Notes:							

MCA WMC-035-101-18 Base Bid: BEAM-TYPE GUARDRAIL (SINGLE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$38.00	12818 / linear foot	\$487,084.00		Υ			
Product Code: WMC-035-1		Supplier Product Code	•					
Agency Notes:		Supplier Notes:						

City of Oklahoma City and its Trusts

Ellsworth Construction OKC dba Atech Paving	First Offer - \$38.10	12818 / linear foot	\$488,365.80	Y
Product Code: WMC-035-1		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Haskell Lemon Group, LLC	First Offer - \$40.00	12818 / linear foot	\$512,720.00	Υ
Product Code: WMC-035-1		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

MCA WMC-035-101-19 Base Bid: NEW GUARDRAIL EXTRUDER TERMINAL										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$4,000.00	12 / each	\$48,000.00		Y					
Product Code: WMC-035-1		Supplier Product (Code:							
Agency Notes:	Supplier Notes:									
Haskell Lemon Group, LLC	First Offer - \$7,500.00	12 / each	\$90,000.00		Y					
Product Code: WMC-035-1		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$7,595.00	12 / each	\$91,140.00		Y					
Product Code: WMC-035-1		Supplier Product (Code:							
Agency Notes:		Supplier Notes:								

MCA WMC-035-101-20 Base Bid: SEEDING					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.85	4900 / square yard	\$18,865.00		Y
Product Code: WMC-035-1		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$4.00	4900 / square yard	\$19,600.00		Y
Product Code: WMC-035-1		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Haskell Lemon Group, LLC	First Offer - \$10.00	4900 / square yard	\$49,000.00		Y
Product Code: WMC-035-1		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

MCA WMC-035-101-21 Base Bid: SEDIMENT AND EROSION CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ				
Product Code: WMC-035-1 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$53,400.00	1 / lump sum	\$53,400.00	Y	Y				
Product Code: WMC-035-1	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Haskell Lemon Group, LLC	First Offer - \$95,000.00	1 / lump sum	\$95,000.00		Υ				
Product Code: WMC-035-1		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

Supplier Totals

f Ellsworth Co	onstruction OKC dba Atech Paving	\$2,009,931.85 (21/21 items)	
Bid Contact	Timothy Lunday tlunday@ellsworthinc.com Ph 405-418-4741	Address P.O. Box 10765 Midwest City, OK 73140	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Notes	Uploaded bid bond to last item.		
Agency Notes:		Supplier Notes: Uploaded bid bond to last item.	Head Attch:

City of Oklahoma City and its Trusts

f Rudy Const	ruction Co.	\$2,375,179.00 (21/21 items)	
Bid Contact	Doug Walker ppratt@rudyconstruction.com Ph 405-478-9900	Address 3101 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Bid Bond	(Status: This bid bond could not be verified)		
Agency Notes		Supplier Notes:	Head Attch:
f Haskell Lem	on Group, LLC	\$3,186,116.00 (21/21 items)	
Bid Contact	Tammy Robinson bids@haskelllemon.com	Address PO Box 75608 Oklahoma City, OK 73147	
	Ph 405-947-6069		
Qualifications	Ph 405-947-6069 OKC PRE-QUALIFIED CONTRACTORS		

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.